Volume Unit Test Review Name:

l) A container that holds sugar is shaped like a cylinder. The radius of the container Is 3 inches,
and the helght of the container is 10.5 inches.

Which measurement is closest to the volume of the container in cubic inches?
A 254.47In
B 296.88 In.
€ 395.84 in?

D 197.92in?

cona and s dimensions are shown in the diagram.
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Which measurement I closest to the volume of the cone In cubic Inches?

F 186.38 in3 H 745.51in?

G 248.50 In? 3 62.13 In’

%)

A ball shaped like a sphere has a radius of 2.7 centimeters. Which measurement is closest to
the volume of the ball in cubic centimeters?

A 46.38cm’
B 33.93cm’
C 122.15cm?
D 82.45cm’




A party hat is shiaped like a cone. The dimensions of the party hat are shown in the disgram

S

Which measurement Is closest to the volume of the party hat in cubic Inches?

3
A 84.82in. T
3
B 339.291in. D 1,017.88in3

LA

')Find the volume of the sphere that is shown

A. 3min?
. 13.5in? . Jin

B
C. 45nin?
D

. 4.5in? '

(I"JWATER STORAGE A cylindrical water

tank has a diameter of 5.3 meters and
a height of 9 meters. What is the
maximum volume that the water tank ., hoia?

m 53w
I
A. 47.7nm? C. 198.6nm?

B. 23.9nm? D. 63.2ntm?




ﬂA cylinder and its dimensions are shown in the diagram.
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Which equation can be used to find V, the volume of the cylinder in cubic inches?
A V=mn(2.5hy

B V=n(5hy

C V=mn(2.52h
D

Vv = n(5¢h

i;)A cone and its dimensions are shown in the diagram.

A\

Which equation can be used to find V, the volume of the cone in cubic inches?
A V=xr(5%)(7)
1
B. V=(3)(53(7)

= ME@

C.V 3

D. V=) (53)(7)

9)]) A sphere has a radius of 6 inches.
Which equation can be used to find V, the volume of the sphere in cubic inches?

A. v=(§)n(62)

B. V=(3)n(6)

c =4n:(63)
3
2
D. V:E(L).
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10.) Who solved it correctly?

&\ Abe‘ 10in
V& B\n 0

verrezh l\ih

VaTr (5t
V=T (25)()
V=T (275)

V=863.9in"

b.) Comi la
V= Bh
V= (52)(1)
V= (1) (1)

vzIl0Tm

[v- 3(/5.(.,:“37

11.) Who solved it correctly?
o) Student A. Gin
V= Bh Bh

=
T‘r“\ _’[l"@f_x_ q"‘

Vs n(ze)@) - zr_%@
3

b) Stdent B.
B
V=5
v=Trh, mE)e)
3 3

VT @)(6) . ﬂ;&)
3

V=108min 3 __g P V= ngwl‘hsﬁ_/
12.) Who solved it correctly?
a.) 30%\«\3 _— b) Aaty
V= _L_/_II.E_ v= Ymr3
( Poe® °
Yer(2 Yo (6
V=1m Tl“3 Ve '-]rrsc Zg) - ‘fTI‘B(S)

V’——z-éﬁr = FMem? oY

25. lew> |

Ve BET = (0.7 o0? or

_3_5.5::\“3




